All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)

Trade Name: Machinist Year 2
Year: 2nd Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Max Marks :

150

Sr. | Client Question

No D Question Body and Alternatives

Trade Theory

1 What is the use of depth micrometer?
S TIEHHICT BT STIN 31 52
AL Check the width of slots

wiic Pt oS B W HY

Check the depth of blind holes

319 BC BT TGS D1 SifF bY

A3 Cheek the dia of holes

BT & T B ST B

Check the diameter of thin rods

Tdell B8 & A B ofid By

A2

A4

Trade Theory o

2

Which mechanism used to rotate the circular table?

YHeR 9T Bl GHM P (oY Ty ol T SUTINT fba STl 82

_Al Rack and Pinion mechanism

Y& IR fafae o

62 Bevel gear mechanism

9ad iR o=

{U Pawl and Ratchet mechanism

e R g @
Worm and Worm wheel mechanism

T AR e i

A4

Trade Theory

3 Whatis the uses of screw thread micrometer?

T IS ISP IR B UGN T 32

Al Lo
. Measure major diameter

TG T S AT
AZ Measure pitch diameter

g &1 o A

A3 . .
.~ Measure minor diameter

Y S BT AT

,A4 Measure thickness of threads

ES B G ER I

Trade Theory

Marks

2.0

2.0

Negative
Marks

0.00



Which type of micrometer designed to measure of longer internal length?

5T THR BT AIsHIHeR e 3iidRe weTs ATon & fore fewrs fevar mar g2

'A] External micrometer

TR AEH e

A2 . .
7 Outside micrometer

TR A IHIe

A3

.~ Inside micrometer
4 .. .
Stick micrometer

Rew AR

A

Trade Theory

What are the sizes available in telescopic gauges as per mitutyo series 155? 2.0 0.00

P T A mitutyo YT 155 B TR FT MHR IUAH &7

fM 12 mm to 130 mm

12 fordt & 130 fareft

,A2 20 mm to 175 mm

20 Torft & 175 faeft

{\3 5 mm to 120 mm

5 forft & 120 fireft

4 8 mm to 150 mm

8 foreft & 150 foyedh

A

Trade Theory_ Al

What is the range of sizes in feeler gauges as per IS: 3179? 2.0 0.00

IS: 3179 & STIR BIER 751 H SHTHRI BT AT 3T 32
0.001 to 0.05 mm

0.001 ¥ 0.05 faredt

?A2 0.01 to 0.3 mm

0.01 903 Ao,

0.03 to 1.00 mm

0.03 ¥ 1.00 fAredt

j°‘4 0.02 to 0.75.mm

0.02 %075 o .

Al

A3

Trade Theory

How much tolerance is maintained to make gauges comparing job tolerance? 2.0 0.00

Sife STy Bt a1 H aTel I Bl S & o et wfwpar it st 82

Al One - Tenth

T - SHa fga
A2 One - Fifth
T - gigar fgean
One - Hundredth
T - Giat fe
54 One - Eight

T - 313 g

A3

Trade Theory



What types of gear is in automotive differential gear boxes?
affermies femiRrad freR siew & f5d TeR &1 iR g 32
:A] Worm and Worm gear

a1} iR f firR
':AZ Rack and Pinion gear

X SR fafg R
:A3 Hypoid gear

FRUES fy
f\4 Angular gear

Doy TR

Trade Theory

Which mechanism is used to convert rotary motion into reciprocating motion?

et i B gt e H Ieem 3 o forg = o1 SuanT e S 32

fM Worm and Worm gear

I 3R 3 fireR

,A2 Helical gear set

ERERIUEISH
{\3 Bevel gear and Hypoid gear
Sad RR R grEdiEs iR
_A4 Rack and Pinion

& IR s

Trade Theory_

How the pitch of a rack is specified?

T 3% 3 g B Py 1 ot 82

.Al In addendum

SeH T
2 In depth
TS
:AS In linear
aw |

54 In module

Aree #

Al

Trade Theory

Where'is rack milling attachment fixed on a milling machine?

Yo fafenT sreaie ue fafehT axiie W gt ovman S 82

Al Between the knee and Elevation screw

+ 3R TeRfeT w5 &

52 Between the face of the column and Arbor support

PiaH 3R TR U & Y & 7

AS Between the saddle and Knee

Jsqd RN F T H

54 Between the column and Knee

FieH R A & &

Trade Theory

2.0

2.0

2.0

0.00

0.00

0.00



Which part has the movable jaw of gear tooth vernier caliper?

g um A firR gy affeR el R & Ia e a1 &2

f“ Vertical sliding head
FuftR W Es

‘:AZ Horizontal sliding
iferst TSt

:A3 Fine adjustment head
TR FHRISH 7S

f\4 Vertical slide blade
AR WS =S

Trade Theory

Which instrument is very similar to the principle of a veriner caliper?

P T IUB BT g Th IR HeiR P THH 82

fM Micrometer

e

,A2 Bevel protractor

T MR

{\3 Gear tooth vernier caliper

R gy affar Bfemm
A4
: Steel rule

Tasa

Trade Theory_

What is the addendum of gear teeth?

iR & aidl &1 sresH R 82

.Al Distance between outside circle to pitch circle
g g YT 918 Wb d & o1d Bl gl
52 Distance between outside circle to root circle

T THA Y FC Gbd B 99 B g

_AS Distance between pitch circle to root circle

T Webel 9 3¢ §ebal b s 1 Gl

54 Distance between outside to bottom point of gear

R 3 STeR & 9 g & S o gt

Trade Theory

‘What kind of material is used to produce a template?

TRl R & fore by o @t areEht &1 SughT o S 82

Al Good quality iron tube

3! UTarelT aTe e 1 e
f\Z Good quality round rod
33! TOTERTT aTell 1 68
Good quality copper sheet
33! TUTaT ATl i) Bl ATaY
f\4 Good quality steel sheet

3! a1 }id /e

A3

Trade Theory

2.0

2.0

2.0

2.0

0.00

0.00

0.00



What is the use of template?

AT BT YA T 82

,A] Checking the contour of component
UTH F THI B oig

A2 .

7 Checking the length of component
ITH P aTE Bl wrd

A3 . .

.7 Checking the weight of component
UTH P IO B O HAT

A4 . .

. Checking the width of component
e Pl Bl S Bl

Trade Theory

How a vertical milling machine can be identified?

e SeieR Al 7= &) ugae $9 B 51 Johdt 37

fM According to the axis of table movement

A gaHc &t P& & STAR

,A2 According to the axis of knee movement

t o Hatic & & P ATAR

{\3 According to the axis of spindle rotation
ST AR & el & STIR

.A4 According to the posistion of column

P & JHRIADA B STIR

Trade Theory_ Al )

Which type of machine is used to produce a T-slot in machine tools table?

T e ouw H ¢)-Xeile SH & T o5 YR &t 3= o1 guiT fan s 32

.Al Lathe

WRIg

%2 Horizontal milling
&ifr fife

:AS Verical milling
SR T

54 Drilling machine

CUREF]
Trade Theory

Whichpart of vertical milling that can be used for lift the knee?

FeafeR fAfehT o1 S a1 figw S i Y Som & o sxamTe foban o Tehan 82

Al Vertical head

FaltR S

52 Table lead screw

T S T
?AS Elevating screw
qaafeT ¥
f\4 Front brace
e s

Trade Theory

2.0

2.0

2.0

0.00

0.00

0.00



2020 Which machine used for boring, key way cutting and profile milling can be done? 2.0

AT, DB 3R Nergar fafeh & fore fog wxia &1 3w fooan w1 I e 32

:A] Lathe machine
Y 7R
‘:AZ Shaping machine
QAT A
:A3 Verical milling machine
FeateR e =i
f\4 Horizontal milling machine
&f fafe it
Trade Theory

21 21 What type of cutter holding device is generally used on vertical miling machine? 2.0

Feater fAfehT a=iv W AR W 59 TeR & He? 8T (Samy o1 ST foar s 82

A

1 Collet chuck
Picic IH
,A2 Long arbor

T SR
{\3 Clapper block

FIR B
:A4 Taper sleeve

TR %

Trade Theory_ Al )

22 22 Which type of machine is generally used for wood ruff key way cutting? 2.0

59 UR B A=A BT IUTIT 318 TR TR IS FISIUIC HIed & fer foam wrd1 g2

.Al Shaper
AR
52 Slotter

RVI[AY

_AS Vertical milling

SR fafeT

54 Horizontal milling

&ifcrst faferT
Trade Theory
2323 Which formula is used to find out the linear pitch of a rack? 2.0

Y % X o 7 ue T & o b I 1 IuanT fara S 82

Al (A-Z)40

(A-Z) 40
A2
T mm

T m

A3 4012

40/z
54 T m/2

T m/2

Trade Theory

0.00

0.00

0.00



24 24 How length of rack is calculated?

Y B TS Bl UM H DI ST 82

.A] Linear pitch x Number of tecth

e i x il &t e
‘_AZ Module x Number of teeth
il 1 T x HISTA
'A3 2.25 x module
225 x AT
54 7 x Module
mX IIV'IEEKT
Trade Theory

25 25 Which formula is used to calculate chrodal thickness of a gear tooth? 2.0 0.00
TR gy & wisd Hiers ® TTuMAT & fo for g &1 ST fasa et 82
Al
T mm

mTm
.AZ mZ
mZ
A3 117 sin (90/2)
mZ sin (90/z)
A%z iMm
(Z+2)M
Trade Theory N ___

2626 Which part of a gear tooth vernier caliper is used to set the addendum height? 2.0 0.00
3SH Sarg MufRd B & e R ey afFiaR iR & for g YT o1 Suai fobar S 82
_Al Vertical slide with blade

IS & Y SR T3S
A2 . . . .
.7 Horizontal slide with movable jaw
A IS & Y &feS TgS
53 Verical slide and fixed jaw
FeaftR TEs R AR sae
_A4 Graduated vertical beam and fixed jaw
i FafR i ik RR W&
Trade Theory

27 27 What formula is applied for calculate the pitch diameter of a spur gear tooth? 2.0 0.00
TR TR gid & o o 1 10T & fore 1 9 g o foba e 82
_Al Zxm

Zxm
AZ(z+)m
(Z+2)m
A3 7 xmn2
Zxm/2
64 7/6 x m
7/6 x m
Trade Theory
28 28 How many degree is possible to swive on the vertical head of a vertical milling? 2.0 0.00



FeafR Al & SwafR 3 WS f fSh Ha gva gr

Al
. 15°
15°
A2
. 25°

25°

53 35°

35°

M s
45°

Trade Theory

29 29 Which feed is given while sliding on the column in vertical milling?

i fHifelT & Piad R g 4 THT SIF Il BIS & o 82

_Al Circular feed

TERBIS

:A2 Cross feed
P BS

:A3 Longitudinal feed
g Big

_A4 Vertical feed

FER Bis

Trade Theory

3030 Which machine the spindle can be moved up an down?

g A= @ Risd o i Ragwn ST 9 82

fM Vertical milling machine
FedteR e w2

:A2 Horizontal milling machine
&ifr fafe it

A3 Lathe machine

KEERIE]
_A4 Shaping machine

Qft 7=

Trade Theory

31 31 How many clements must be known in cut a helix or a spiral?

SfereR T wftfa &1 PreA & g fosam dal & S S <o w

Al

2

A2
1
Ads
5
A
6

Trade Theory

32 32 What is the line generated by the progress and rotation of a point around a cylinder?



T RIeieR & IR 3R T fiig B o1l SR A2 A Seua Tre T 89

:AI Sprial
aftfa

2 Helix
HNES]

Bevel

A
A3

h1d

)

54 Taper

REd
Trade Theory

What is the maximum helix angle determined in helical gear? 2.0
TaeR firR # fFuifa sifead e s
:Al Obtue angle |
3 BT /
{\2 Acute angle
ek
:A3 Right angle
FHBIT

54 Reflex angle

EIRECEAL

Tgiie Theory

What is the name of cutter? 2.0
HTR BT A R 82

MANSIAM IS

,Al Side and Face milling cutter

s R By fAfeT Hex

52 End mill cutter

e Ha s

53 Slab milling cutter
e fAfeiT wex

A% Shell and Mill cutter

A IR FArd Hex
Trade Theory
What is the part marked as X? 2.0

X & &0 ¥ fafgd ym e g2



36

37

36

37

3
1
o s miem=

w |
urlal

MANSIMA106

.Al Horizontal beam

aforst fes=or

AZ Vertical beam
JeafeR forzor

.A3 Horizontal sliding head
_A4 Vertical sliding head
ECERNIMES S
Trade Theory
Which type of indexing is used to cut the helical gear?

YIeR R & $Tes F oL fbe UHR & SerHUT ST SUaRT foar S 87

'Al Direct indexing

UGE IHHUT
_AZ Differential indexing
3R FHHUT

53 Angular indexing

DIUNG SIHAT
A4 Simple indexing
R S{hHUT
Trade Theory

What is the type of reamer?
IR P yPR IR

2.0



38

39

38

39

BAAPIE B 100

fM Hand reamer with pilot

e gfed 808 W

AZ Machine reamer

ERIERIEN
A3 Hand reamer
’ €7 »
tus \

A4 Jobber reamer

SR AR

What is ratio of taper pin hand reamer? ’ .
TR O ¥ SR 1 U N B2 (/
R

Al 150

1:20
4 Workshop Calculation Science

Which one of the following geometrical shapes centre of gravity lies from its base is 1/3 of its height?

o & o1 a1 i Sl o1 ey % 5Hb YR I fRYG B, sHb Hurs 1/3 B2

{\1 Square
Eu
_Az Rhombus

[ELEEaW

53 Triangle

Py
4 Cone

P

A

2.0

2.0

0.00



40

41

40

41

Workshop Calculation Science

What is the formula for circumference of a circle?

Tl o1 URFY T G T2

WSCN23L1Q5

Al

A3

21r
A4

mr

What is the formula for arca of the circle?

Workshop galcglatiofl Science

T & AR b fu T R R?
[
_ _% _
,
o
it
&
=
3
=
Al
1'rr2
2
A2
TIr?

A3

21r

2.0

2.0

0.00

0.00



42

43

44

4

43

44

A4

Which line is called as chord?

DI Il ATE BT ST e ST 87

Workshop Calculation Science

A

>

WSCN23L2Q29

A Ep
ED
A2 AB
AB
A3 op
oD
A ok
OE

What is the radius of a circle whose diameter

T 1 e 7 B Rt ot 44em 82

:Al 44 cm
44 cm
'AZ 22 cm
22 cm
63 23 cm
23 cm
,A4 20 cm

20 cm

What is the name of the shaded portion?

BTifbd YT BT ATH T 82

Workshop Qalqula?iorLSciTence

is 44 cm?

Workshop Calculation Science

WBCH2AL

fM Segment

s

2.0

2.0

2.0

0.00

0.00



A2 Sector

Engineering Drawing

The head for boiler application's shown in the figure given below is

19 fau e fomr  faem U sTger TfRpe F RS R,

EDHOi 8241007

snap

Ju
pan

Be

3 .
conical

A2

RBIBR
4 steeple

wua

Engineering Drawing

Riveted joints is a

Racs wige ?

1 ..
permanent joints
R Sfige

A2 . Y
. temporary joints
SRRt Siige

3 .

semi permanent

e =yt

4 none of these
EECEIER
Engineering Drawing

Identify the given rivet.

e e fkae & ugaH|



48

49

50

48

49

50

EDHG1 8211008

Snap head

ques

62 Flat head

Al

TITE 58
,AS Counter sunk
B Gh

{\4 Pan head

TEs

Engineering Drawing

‘Which materials pipe is used for drainage pipe line?

3T UTEUTEA & o foh Hefaet Urgy 1 SUGRT {3 i 82

A

! PVC pipe

PVCUIRY
.AZ Brass Pipe

diqer & ursy

A3 G Pipe

G.I. Ui
_A4 Steel pipe
¥Id 31 URy

Engincering Drawing

Which of the following is used to block the pipe at one end?

g & 3 foget uanT urgy ) U RR R T B & o o S 82

A

! Plug

T

AZ Union

g

{\3 Reducer

[REPG

A4 Couplings
B
Engineering Drawing

Which one of the following accommodates four pipes in a pipe fitting?

Fofifea & ¥ $19-91 v Uz e § IR urgul o) SRR 1 82

2.0

2.0

2.0

0.00



51

52

53

54

51

52

53

54

Al Union

AZ Cross

1%

A3 Elbow

Employability Skills
Complete the sentence with suitable describing words It is a neighbourhood. One need not fear. 2.0
Complete the sentence with suitable describing words It is a neighbourhood. One need not fear.

‘,Al good
good
A2 big
big
53 safe
safe

expensive

expensive

Employability Skills

Complete the sentence with suitable describing words There isn’t any amusement park in the arca. Itisa ___ place. 2.0
Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa ____ place.

{\1 polluted
polluted
A2 dry
dry
A3 .
noisy
noisy
.A4 boring
boring
Employability Skills

Complete the sentence with suitable describing words There is a factory in the area. The air is . 2.0
Complete the sentence with suitable describing words There is a factory in the area. The air is

Al

polluted
AZ boring
boring
3
uneven
uneven
A4
noisy

noisy
Employability Skills

Complete the sentence with suitable describing words There is water scarcity in the locality. The area is . 2.0
Complete the sentence with suitable describing words There is water scarcity in the locality. The area is

1
uneven

0.00

0.00

0.00



uneven
2 .
noisy
noisy
53 dry
dry
_A4 boring
boring
Employability Skills

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
arce

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
are

fM dry
dry
{\2 polluted
polluted
‘_A3 boring
boring
4
uneven
uneven
Employability Skills
What help us to maintain the balance between mental and physical activities?
‘What help us to maintain the balance between mental and physical activitics?
Al Hobbies
Hobbies
52 Running
Running
f% Walking
Walking
54 Reading
Reading
Employability Skills
When you meet the instructor inside or outside the ITI, it is....
When you meet the instructor inside or outside the ITI, it is....
! always formal
always formal
‘_AZ . formal inside the ITI
. formal inside the ITI
3 informal the ITI
informal the ITI
4. .
informal outside

informal outside

Employability Skills
Role models people to follow them
Role models people to follow them
! elevate

elevate



2.
nstruct
instruct

3. .
inspire
inspire

4 .
motivate

motivate
Employability Skills

59 59 Spoken communication is usually not only but also

Spoken communication is usually not only but also

f\l formal, informal
formal, informal
2 verbal, nonverbal
verbal, nonverbal
3 verbal, informal
verbal, informal
A4

- formal, nonverbal

formal, nonverbal
Employability Skills
60 60 The immediate surroundings to the place you live in is called
The immediate surroundings to the place you live in is called

! village
village
,Az town
town
53 city
city
?A‘4 neighbourhood

neighbourhood
Employability Skills

61 61 The conditions in a place that affect the behaviour and development of somebody or something is called
The conditions in a place that affect the behaviour and development of somebody or something is called

fM neighbourhood
neighbourhood
2 .
environment
environment
‘_AS locality
locality
A% g cilities
facilities
Employability Skills

62 62 Which kind of persons are with very good behaviour, achievements and lead as an example?
Which kind of persons are with very good behaviour, achievements and lead as an example?

1 . .
customer service executives

customer service executives

'AZ ITT instructors




ITI instructors
3
role models
role models
4 .
sales supervisors

sales supervisors
Employability Skills
----the park.

----the park.

1 are, next to

are, next to
2.
is, next to
is, next to
is, next
is, next
4
are, next

are, next
Employability Skills

Rainwater harvesting ------------- to prevent water scarcity
Rainwater harvesting ------------- to prevent water scarcity

Al .

. gives
gives

2

gave
gave

63 help
help

‘_A4 helps

helps
Employability Skills

Identify the opposites. clean x --- ---, healthy x ----

Identify the opposites. clean x =-- ---, healthy x ----

.Al dirty, health
dirty, health
:A2 . dirty, healthy
~dirty, healthy
:AB dirt; unhealthy
dirt, unhealthy
:A4 dirty, unhealthy

dirty, unhealthy
Employability Skills

Which one is not an adventure?
Which one is not an adventure?

! climbing mountains
climbing mountains
.AZ trekking

trekking



67

68

69

70

67

68

69

70

3 surfing

surfing

:A4 driving

driving
Employability Skills

Travelling in the sea is called a
Travelling in the sea is called a

! voyage
voyage
f\2 boating
boating
f\3 fishing
fishing
A4

. tour

tour
Employability Skills

There are many dos and don’ts to be --------while preparing for/ attending an
There are many dos and don’ts to be --------while preparing for/ attending an

_Al there, interview

there, interview
.AZ identify,
identify,

3. . . .
identified, interviewed
identified, interviewed

54 identified, interview

identified, interview
Employability Skills

your mobile phone ----- silent mode.
your mobile phone ----- silent mode.

A

! know, in
know, in
52 know, of

know;, of
A

* keep, in
keep, in
‘_A4 keep, of

keep, of
Employability Skills

The Everest, the -------m-m-m-mmmx peak in the world, ----------- in Tibet.
The Everest, the -=--=----emmemn- peak in the world, ----------- in Tibet.

Al pioh is
high, is

:A2 higher, is
higher, is

'A} highest, are

2.0

2.0

2.0

2.0

0.00

0.00

0.00

0.00



71

72

73

74

71

72

73

74

highest, are
_A4 highest, is

highest, is

Employability Skills

Which language is essential to become a Computer professional?

Which language is essential to become a Computer professional?

_Al Mother tongue

Mother tongue
:’\2 Chinese
Chinese
:A3 English
English
A% Hindi
Hindi

Which is the Synonym for "loyal"?
Which is the Synonym for "loyal"?

'Al Faithful

Faithful
éz Prosperous

Prosperous
?Ad Utopian

Utopian
fM Perfect

Perfect

Employability Skills

_Employability Skills

When you speak to your supervisor, you should be
When you speak to your supervisor, you should be

{\1 Aggressive
Aggressive

.AZ Formal
Formal

{“ Informal
Informal

:A4 Casual

Casual

Employability Skills

Which one is the describing word from among the words given?

‘Which one is the describing word from among the words given?

.A] Mobile phone

Mobile phone

'AZ Water

Water
A3 pun

Pull

2.0

2.0

2.0

2.0

0.00

0.00



4 Magnificent

Magnificent
Employability Skills
75 75 A sentence is a sentence that expresses a direct , command, invitations, warning or instruction. 2.0 0.00
A sentence is a sentence that expresses a direct , command, invitations, warning or instruction.
Al .
_ simple
simple

A2
compound

A3

A4

compound
imperative
imperative
adjective

adjective




Machinist - 2nd year (Eng) SET 2

Question Number

Correct Alternative position

1 A2
2 A4
3 A2
4 A4
5 A4
6 A3
7 A1
8 A3
9 A4
10 A3
11 A2
12 A2
13 A3
14 A1
15 A4
16 A1
17 A3
18 A3
19 A3
20 A3
21 A1
22 A3
23 A2
24 A1
25 A3
26 A1
27 A1
28 A4
29 A4
30 A1
31 A1
32 A2
33 A2
34 A3
35 A1
36 A2
37 A3
38 A1
39 A3
40 A3
41 A2
42 A2
43 A2
44 A1
45 A4




46 A3
47 A1
48 A1
49 A1
50 A2
51 A3
52 A4
53 A1
54 A3
55 A4
56 A1
57 A1
58 A3
59 A2
60 A4
61 A2
62 A3
63 A2
64 A4
65 A4
66 A4
67 A1
68 A4
69 A3
70 A4
71 A3
72 A1
73 A2
74 A4
75 A3
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